=

S 4° 2 YErd A2

oo

D 4x5 @ 444+4+4+4
® 5x5x5x%5 @ 4x4x4x4x4

® 5x4



©)
®

%x2x3x2x2

1

2 32
1

23 x 32



@® 3x3x3=33
@ 2x2x2x3x3=2%x32
® atat+a+ta=a

@ axbxbxbxb=axb*

1 1
© 2X2X2XTXT 23X 72




s S &2 A2 2% 271

@ TXTXTXTXT=T7%X5

© xxxXxyxxxy=x2xy3

© 4x4=2*

® 2x3x3x3x2=2%+3°
1 1 1 3

I XIXIXZ =3x 2
@ gxX3xExz=3xg

@ o7 @ 174 ® 374 @ 4 74

® 57}




oln

® 196

@ 56 ® 112 @ 128

O 28



6. 23x3x5%2x 7% 9 o] JfE otoiet

SR A



= % 129 2L £

O 2 @ 3 ® 4



8.

APk 58 et 2 104 HE 2 4 A

ol 59, Aths 2 7W7F 5ot
ol ¥ 4= Fstofet.

> R 3

R



9. A2 $EY £E 5 EUET A, B 7 ATk A °] BUe] 47} 36,
B ] £ 9] 57} 48 olck. o] & HUHHIZL 437 2 oA
oA 22 ol B £ Holw ¥ 578 F914] ofolal,

> R 3]



ol

o|J
o8

ol
Nfo

op

20 o|t}.

@® 0 9] A9k

ojn

=

-2 o Azt 2 9

® Adigtol a §

£ a °F —a ot

<k

—_



o0& %

illy
e

AL

@ av-3x9°It} = a>-3
@ aw20lstelth. = a<2
® a=0mHTIth = a<0
@ a+=8oldelth = a>8

® a4t = 4<a






13.

E5a b7 ST 2L w0 s b O B2

X
(-
b= (~2.5) x g = (=4) x (‘%)3




14. o3 512 o Hij5pe?

@® 90 @ 126 ® 288 @ 352 ® 1498



S L5 Jotoigt
2x3x52, 2x32x79 FLERE F
422 x ,
15. &=
Be
=
ge
=



N

b F£513L 186 & U1 3 o] F53 5= Foll A

@ 4 ® 7 @ 9 ® 63



17. Al 2°x3x5, 24, 60 o] Z|gofot HaguaE 242 F-5teiet,



il

o, ab ©] F2?

&



o=t

S

o2 FAXNM A-B-C+D 9 & F

=]




Il

= i

i my o

e T T

- % ol o

' > 3
Mo X .
1jo ol r J_,NU 1D|
b T
Coaw s
R r 3
T o oo
00 i o~ = my 3
E_W o W - __ﬂ
< o . T o ©
- o A P
- o RO AE oy omm or
ol o M_m WH B T M_m
™ ol HHW TG NN
ol I s
% +PROXEER )
e . LI A B

ol G AEa FmW gy
oo Rk R kR M oop o
®

ojn



21. A AFa, b, coll ot axb=—-6, ax(b-c)=9 L M, axc 9
W2

@® -15 @ -9 ® 3 @ 6 ®9



22. AAdF a,bc N WA 5xa=Txb=c* & WS c 2 o=
7Hs oAl g2 A7

@® 35 @ 170 ® 105 @ 140 ® 180



23. F A4 x y ol tiste] 27 x 3 x5 O] k=0 736 L W, x +y
o] o= g AL BT FoHH?

@ 5 @ 7 @9 @ 11 ® 13



o|J
S
o}J
ol
Nfo

op

= Azaoltt

@ 6 721

@ 3,5, 7, 9= 250t

+= 3 7Rolch

e

—_—

q

o

® 20 9



=11
5=

tol e 11 237t Ak A7t = A

=0

°f

48
105



1
-3

31
@ -5

R






